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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Programme 6th Semester Examination, 2023

GE1-P2-ECONOMICS
Time Allotted: 2 Hours Full N%:
The figures in the margin indicate full marks. (&

The question paper contains paper GE-2A, GE-2B and GE-
The candidates are required to answer any one from three ct\
Candidates should mention it clearly on the Answer Book.

GE-2A

MACROECONOMICS @

GROUP-A / i3/
1. Answer any four questions: \ : 3x4=12 |
fsfafie @-cm srafe 2o Tea wie: \

B TRAC] THEHD! I IR 4

(a) Explain the relationship betwe;:::ﬁj ey and general price level.
S E € HUIRE WIS ]

TETERY H 31 T Jodl &R Y SATSRIN |

GDP @32 GNP-3 2 AT |
GDP 31 GNP-HT13] TRfeT

1l (effective demand) SIS = 2
HIRY HRT W] b Bl ?

What do you mean by an open economy?
(1T S92 (open economy) FICE AT ?
Gl e H=Tel & §f3o ?
(f) What is Stagflation?

Stagflation &9

BRI 7o) S & 8 2
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GROUP-B / @eti-¢4 / &8-@

Answer any four questions 6x4 =24
Q- BIATD e Ted we
P TRICT FHEHD! IR RFEN]
Explain the drawbacks of measuring national income in developing countries. 6

G SHTTE (ree G Sy 2AfAie sk fE S 4
R SeEHHT VIR ST ATGET HSRIE ATEAT THEI |

‘Supply creates its own demand” — Explain. & 6
1ot e sifEwE 1 I — ) (b
Y ST} ST ST T — SREAT RN | K

*
What is investment multiplier? Discuss the role of investm Qpller 2+4
in LDCs. 3
R @i SIS A0 9 G Srgere (o v e gt 4|
Y9 U T & &Y ? STeafiepfie e P TuheT TR |
Explain the relationship between APC and MPC. Q 6
APC 6 MPC-3 S04 7~ (a5 34 |

APC ¥ MPC 1578 §a7Y FarSe | \\
Explain the liquidity preference eory@'yn 6

@3 @9 “Liquidity preference’™ 391
et et forraTan ﬁfmﬁr@ |

Distinguish between e pull and Cost-push inflation. 6

TErRifea g o 4
T aTeiard TR |

- 715 & Tea wie

3 gEaCT THERDT ITR BN

Critically explain the Cambridge version of quantity theory of money. 12
el i ©rgd — @NEE S FCEEAE DAl 9
e GRETOT RIGHTTD! FTTR3T SRHRUT ST HUHT T THEN |

Q GROUP-C / Retal-st / ST
,2! Answer any fwo questions 12x2 =24

Explain the Classical theory of interest rate determination. 12

v fadiarer oA oel A F41
=TT &R iR el fageTa s TEN |
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10.  Explain the factors that determine consumption function.

Cotat-werw fRdfaema Ramef sl 7 |
T Ot T fRoT T R eE e TR |

11.  Explain inflationary gap with the help of a suitable diagram.

A4
INDIAN ECONOMY-II \
GROUP-A / Tent-= / 553 \\/

1, Answer any four questions from the following: @
@- b1Ff6 2raa Tea e
P TRICT FHEHD] ST (GBI Q
(a) Define the term planning. \@ =
ol - g7 TG HE | \
T RETST AR | p, 0
(b) What do you mean by Balance of Paym@)?

L 2
‘BOP’ 370 & @RI ¢

YehRTHIT Fger Hlel & qfero

1

(f) What do you understand by monetary policy?
fftas 79 SoAITSa RSB WIS |
A ey w=rer B g 2
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GROUP-B / emi-¢ / gg-@

Answer any four questions from the following ‘ 6x4 =24
(P 5IAf0 emes Taa e
P+ RIS THEHDT I TR
What are the various features of Indian money market? 6

SRS S AR B S e SrE 759

IR 5T Foent =T frdreemess & & g 2
State the role of cottage and small scale industries in Indian economic &

development.
SRS AT SR T ¢ e e @y SIS @ |

_ N\
IR SR R v a1 &7y Seimeny sifive qaTogEN | ,Q
N

Discuss the broad objectives of 12" Five Year Plan in India.
RIS B A eI ek Sme e s 3
HRTAT 93 3t yseaula QDT 9 STEHIR BeThal

SRS [ AR (A ST ST 9 |
el Goft SR RrdeTE e RN | \\

Explain quantitative measures of crédit con India’s Central Bank.
Yol- et ermeen Rens e & i 1
. s

Discuss the features of Indian Capital Market. @

L=y}

Examine the impact of globalization on Indian economy. 6
SR D! 41|

Bl TG 19 THER |

Q GROUP-C / faepi-at / F5g-1
% Answer any fwo questions from the following 12x2 =24
(b F-CFI 7fp evsw Tea mie

P SIICT THERD! TR TR

iscuss the change occured in the volume, composition and direction of Indian 12

» Foreign trade since 1991.

SOBD AT 7i¥ (AT SIS (AT AT Se, side ' sifoeinem @ »IfFey
Gl SCEB F4

T 9%%9 Ul W e caRe! HrT, GReAT Sy RemET Yo gRadTHT arET
BeTthet THEN |



- ' : . 3 o =T e el | il o R R s

UG/CBCS/B.A./B.Sc./Programme/6th Sem./Economics/ECONPGE2/2023

9. (a) What do you mean by social security? 2+10
wifer fomiere! 2e0e & @i p

QAT GRAT W1t & G ?

(b) What social security measures have been adopted for industrial workers in India?
wiRTs e =it o & & e fremene e o8 2w 2
T e sftemema: i g GRS e SUhEs T80 RIS & 7

SRS #eeIRR SfREaE A @ e T S 9|

E P

10.  Discuss briefly the achievements and failures of Five Year Plan in India. @ 12

11.  Discuss various problems faced by India’s small scale industries. V 12
oS T M [few wpraE wmemme @2
NI 1] SENTEwe! T TRYE®T Rt Frememan !%

GROUP-A = | GIE-P

1. Answer any four questions ﬁo(&)llowing: 3x4=12

Q-G BIAG &vsa Tea wies

(a)

hat do you mean by externality?
Externality 351s {& @13t ¢
SIRICT Wl &b &l 2

(d) Define public finance.
Public Finance T#10% & @RI 9
Tt farsT o= e |
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(e) What is market failure?
Market failure 3% & @i 9
JTRPT SRABEAT TeP! & & 2

() What do you mean by proportional taxation?
Proportional Taxation 3#10® & @1 ¢
IUTRReD PR HepT % &Y 2

GROUP-B / fepi-2/ wyg-&

Answer any four questions from the following

CA-CFR SAfG e Tea we .
P ARICT THEHD! IR fager
2 To what extent externality is responsible for market failure? V

Externality F®Id Market failure (3 &eiR® 377 ¢
TR FABATHT TRIAT B BT RaR & 2 Q

7 State and explain the characteristics of aK\Q

Public good 97 (AREI& T STas 771

i

A T RS

4. Briefly discuss the notion‘o%reto efficiency.
Pareto efficiency S1C® [

AR SEATERT YRUTHRE THERT |

wBenefit Approach of Taxation.
th of Taxation SCETIb=A] F41

mreft feoauft eregeey |

e concept of “Fiscal Federalism’ in India.
iscal Federalism T#70® & @RI ST 341
a1 i SitgaT @1 aren @R TR |

% Distinguish between Monetary and Fiscal Policies.

Monetary @ Fiscal Policy-3 541 2@ &= &%)
Hifse A i Afresesrst Priar s@rege |

6031 6
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GROUP-C / f&ret-o / gg-m

Answer any fwo questions from the following 12x2 =24
fafeie - 76 emiw Tea we

P SR THEHD! ST fRATEr
8. Critically explain ‘Ability to Pay Principle of Taxation’. 12
*Ability to Pay Principle of Taxation’ S5l &4 |

TR YRR T+ &R I ST HOHT SRET THEN | 6

9. Write the merits and demerits of direct and indirect tax. &

2P & LA I I 3 HfUl-opiRaiafF e
W

T Y URIe) HREReD] T S BIES e |

10. Write short notes on: 6+6
(i) Internal versus external debt

(i) Burden of public debt. ‘ @
TP Bl (s @

(i) wrerefe e e 4o \
(ii) SRR AT AR \
(i) IR §1T TT&T 0T

(ii) TS TR AR | "\

11.

6031 74
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SEC2-P2-ECONOMICS
Time Allotted: 2 Hours Full Marks: 60

The question paper contains paper SEC-4A and SEC-4B. K Z

The candidates are required to answer any one from fweo courses. ,
Candidates should mention it clearly on the Answer Baok

The figures in the margin indicate full marks.

SEC-4A
INSURANCE MARKET AND ITS PRODUCTS

e AT G A TG TR
GROUP-A / f{@m-3/ @

K. Answer any four questions:
@@ bIaD oTad T wies

Ix4 =

(a) What is Claim Settlement ratio?
Claim Settlement ratio 351 E?W
Tt IO ST TP & 8 2 &

(b) What is life insurance?

G A & 2

(f) State different types of insurance fraud.
Avicsea Jfen wfrmfoefs e o

=T srpReT dHT RS Seerd TR |
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GROUP-B / {oni-4 / 51
Answer any four questions from the following

GE-CFIW B1F1D eivss Ted e
P ARICT FHEHD! TR ORI

2. State the basic principles of insurance.
Fita eyt A wicED T4
et g RigE® SarSTa |
5 Explain the main features of Insurance Amendment Act 2002.
Fs RO W2, 2003 -7 S (AT S 1
T FeET U 2002 BT G RENATES R TEN |

4. What are the main benefits of health insurance in India?

SIS =Y IR el ARaek 7 e

TREHT TR dHTEHT T BIZETE® S P g1 ? \/
5. Discuss the difference between Life insurance and General i C

Elaw @ el ANl ey AL s 9|
ity diar sy e dimmrer arefer TR |
6. “Insurance is not a gamble”™— Explain. %

“Jstt g T W — AT \
T TaBT AT BTg - ST Tei | \

7..  What are the possible consequenées of if‘Qﬂce fraud?

At el ey Aot
a7 enEreteT Fefad WT
' OUP C / Rrt-ot / g
any two questions from the following
-3 %f eltea Teawie
: géﬂﬂﬂ%maﬂ?ﬁaﬁ'\ﬂ[
8. (a) Wh ole of LICI in Indian insurance sector?

NG LICI-H Gl et 39
| Al T 4T LICI- P ofepT 5 8 2
é e the main problems faced by LICI in recent times.

% TG LICT @ Fe Fapmia FY2 28 (et sl $91

uftseett TEEAT LICT- o ST 7 IReT G THRTe aarsqeny |
9. (a) What are the main types of reinsurance?

wws A 2l qaele & &y
QAETTT §Ed YPRE® & &b & ?

(b) Mention the main advantages of reinsurance.

AT 2l el i 7
qefTHTeRT 9 GAwTEs TS TEr |

6032 ' | 2
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10.(a) What is Car insurance?
NS A=t R ¢
N ST 9D & Bl ?
(b) Write a note on the claim procedure of Car insurance.
S S crea WA (claim) #wfo-ga o7 (1B e
PR ey gt TfRmEfYy oot ereeg |

11.  Explain the importance of Claim Management in the insurance sector.

Ricweg v ARGEER @ A )
e AT QT T HEcd T e |

SEC-4B
TOURISM MANAGEMENT

#Bw B
GROUP-A / fett-3 / T g5

1. Answer any four questions from the following:
@G BIafe elrad Ted whes

o IRACT FHEHD! IR e

(a) How does tourism affect world heritage?
ot R AR AR RS 7 @
e et i ERIERETS I T 2 \\

(b) Define cultural tourism.

TR gdesa! aRwTeT e |
(¢) What is Carrying Capacity? +
3z wrel & 9

mmqﬁaﬁ&?a’r? &

GROUP-B/ faetl-4/ 5@
Answer any four questions from the following
CA-CH[ braf0 eeta Tea e
1 AREC] THEHD! ST (B
2 State the impact of tourism on Environment.
AR oA ~H6H-9F 2SR [T =4
ATERUTAT Wi THTE SIS |
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3 How tourism effect the handicrafts industry in India? 6
TERICER o AR &SR SEDl F 1
R P YETeT BRI ST 3R Nl B ?

4. What are the determinants of tourism demand and tourism supply? 6

oG IR @ 2B IIF-aa oA BAmme & 2
e T iy e Ay fia fFrefess & & §17

= 5 State the role of WBTDC for the development of tourism in West Bengal.
sAfswar 67 B WBTDC-&7 il Seiie=l 321

fis ST et fRET WBTDC- 1 e Saregery | (@

6. State the significance of religious sites for the development of tourism in India.&

SIReA Ao SaE i Ewa e WFY SED! FH)
T e RiaTHT H1fii CTEwaT HE SR | ’\Q
y A State the main factors for the growth of tourism in India. V 6
SIS 25w 3w e BoimwmalE [ o
RET G gfe Fifi e PREES FASTeN |

GROUP-C fﬁwsn@ b
Answer any fwo qu m the following 12x2 =24

-3 71 ga e
8 Briefly discuss the impact offairs and+es ivals on tourism development in India. 12
Srared o6 TEu (e 8 ISR AT T
sreTer ReET Trat e |
12
4+8
ow eco-tourism is helpful for sustainable development of the economy?
“Eco-Tourism’ it gizerss St SRacs ARIY FE ?
o) R freras! fifte mRkRefe wieT dead S & 2
11.  State the Socio-Cultural impact of tourism in India. 12

SRS A5 ANER- AR eer WTEb T4
TIREHT G TR RGP T FTSTEre |

b4
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UNIVERSITY OF NORTH BENGAL
B.A/B.Sc. Programme 6th Semester Examination, 2023

DSE1/2/3-P2-ECONOMICS

Time Allotted: 2 Hours Full Marks; ‘&‘
The figures in the margin indicate full marks. (b

The question paper contains paper DSE-2A and DSE-2B%,
The candidates are required to answer any one from two cu

Candidates should mention it clearly on the Answe%

DSE-2A
INDIAN ECONOMY

GROUP-A / fRem-3/ aq;g &
I Answer any four questions from the followmg 3x4=12
ffefRe @-coim 51afP eives T wes

P ARICT THEHD!T IR fRTE;
(a) What is capital market?

T eI e B @R 9 ()O

Qoft a9TR 91T & 8 2

(b) Name some social security m xﬁ
TG S Frmieret % |

t are the instruments of India’s monetary policy?
wIfeRs Fex ~rfours (vaewE) TR o

IRAD! Aifies =it Suaores & & 57 2
(f) Write two features of Indian labour market.

SIACSA =¥ e wio (33 @

AR S JTRDT ggaeT e e |

6030 | | 1 - Turn Ovér



UG/CBCS/B.A./B.Sc./Programme/6th Sem./Economics/ECONPDSE2/2023

GROUP-B/ fReti-4 / wyg-@
Answer any four questions from the following

e @-F 5Ef etm Tea we
P IRAT ST ST R,
2. What are the functions of trade unions in India?
SIS HfP TRE & FreefE & 7 o
HIRTHT HH{He FSP! foharesn & & g1 ?

3. Explain the concept of CRR and SLR with examples.
CRR €% SLR & 416l Triggepre 11 341

4. What are the characteristics of Indian planning?

N
IR AT CRR & SLR &1 STERUMNES &A1 T | |
4

SRS AR (R & S Q

TR AT RreaTe & % &7 2 \;\ :

7 Explain the significance of small scale industries in India’s economic develépment.
SIS WG T FE @ o4 M @7 S F1

AReD! 3H1fefep BT o7y FENTep! Heed qaTITe N | q@

6. What are the problems of India’s foreign trade? @
Sfared (ARt ey T 2 \\
HRETD ST TR FHATER & 2 71 2 Q

T Discuss briefly the instruments of credit control by RBI.
RBI-93 ¥ Aaes Aafoe i wpme SiEpa 41

\

| \s?)m’-c  Tom-at / Feg

yer any two questions from the following

/. e it 418 @it Sea e
Q 3 gEAET e IR R,
8. the functions of India’s capital market.

G P A T2

xplain the role of trade union movements on Indian economy.

TSI ST =fiw 7Y WA SR WeEAna 791
TR SrefearavTT Sifie TS Aralerid! JfHeT aarsaid |

10.  Discuss elaborately the changes in the Indian Industrial labour relations with
reference to globalization.

SRS Me-afiiE oo SRS Soin R 2SR SiEnE 34
THUSHpRUTE! Ferof= T R siteifies s/ FeaemT aftecd Rarydes @t TR |

6030 2
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1. Critically explain the volume and directions of India’s foreign trade in the post- 8+4
liberalisation period. How did it help to overcome the crisis of the Indian
economy during that period?

4| i el eiash wdaien srpiiel TRwac (72 e AT FEEe 2

SENARUTS AReP! AR @maRe! afEr sy R o aHdrETeT® ST SREr
TR | SR ST aer R Srefeaveres Haedre aifaRe wes) werar 1) 2

DSE-2B &
PUBLIC FINANCE (&.
GROUP-A / et / wwyg-a &
1. Answer any four questions from the following: o vf}‘m =12
fAaf@iRe @-co biafe @via Ted ies

N

P IRAET THESD! IR RIERT; V
(a) Define Public Debt.

ISl - TS 7S | @

AT 50T TR TER | ‘
(b) Explain negative and positive externalities with suitable €Xamples. .

Y @ N RIS CRIZAeTE 0t 754 &/

SUYH WWWWW T TR |
(c) Define incidence and shifting of taxations \‘j

FEA A (incidence) R FWRIE [SI51)
BN AR AT CAFTROT IR TfE |-

(d) What is direct tax? Give two exaﬁf direct tax.

v

GROUP-B/ ftehi-4/ gi-a
Answer any four questions from the following 6x4 =24

frfere ca-cotm 51315 @vis Sea wie
T IRAC] THERD! IR fRgE
2. Explain benefit approach of taxation. 6
S0 A oyl SeEna w9
) AT GBI ST TR |
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¥ What are the different types of tax? Explain.
T4 TS HACAF T JICEADA |

T faftF=T SRE & & & ? FASTR |

4. Distinguish between external and internal Public debt.
SeTaRiel 6 (AR SR W64 21 4

aTaT Y TR T BEHHIH TR TEr |

.3, Give an account of trends of indirect taxes in India.
BT A A S 25 SN T
STREHT ORYeT T FgfiepT fraRor g |

demerits.

N

L
6. Distinguish between progressive and proportional taxation. Give their men'ts@ 2+4

7. How does public good give rise to externalities? Explain b gj'.
ﬂmwwmwmmm e .‘

GROUP c;ﬁm&&@n

) questi ns f m the following
fflRe @ b e Tea e

ay’ principle of taxation.

a3 ARG T e n» FAEAGRET SAbl 21

‘awm’rgima%rmm——d i o T B THeN |

e A4

9. How does e (wmﬁhgga ereate market failure? What measures can be adopted to
correct it? 3

et ol R e 9 eI @2 ! RO T HER?
Wwﬁwmﬂé7mﬁémwgﬁw%ﬁqﬂﬁav

10. (a us S§mﬂy India’s fiscal federalism.
Sirea e (@eiEfeenl (Fiscal Federalism) SCADAT 341
\\ forcter <ifrerar BeadT T e |

b) Give some examples of indirect taxes.
SR PR FEPH A WIS
TRYET TR ET SLTERIE B |

n/'

v\i

11, Is internally held public debt better than externally held public debt? Discuss.
TeERe TR 2 B A () TR Ael-F GETE SICE! 2 TP

¥ TT=Re SUAT ARITPY T AT ST ARG =T TH §6 2 Fal e |

*
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